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Xy=84,19,Y,,~88,59,2,~96,46 B3

¥w=0,3127y,=0,3290
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B3 = (b3~ by Y15 (Y/Y19)™

a3 = a0 [(x-0,17/y]
b3=ba [(Mp1x+bp1)/y]
ay =1, byp=-0,4
Mp=-0,974b,=0,658

n = D65 -40

Os olours (0) Yy\=88,6
m " Ehéfnatic value, D65
ch®ma (A*3, B*3)

BE371-5A 1




Xy=84,19,Y,,~88,59,2,~96,46 B4

Xy=0,3127y,,=0,3290 0

Ay (8 =aq) Yia (Y19 113

By = (b4 — by ) Y18 (Y/Y19

ay = ay [(x=0,171/y] 1

b=ba0 [(Mp1x+bp1)/Y]

a0= 1, byo=-0,4 B39 5,

Mp1=-0,169,0p,=0,389 . P8P~ | A

n = D65 4 ' ' f

40 1 30 40

Oswalddolours (o) Y{)=88,6
max (m)hdnatic value, D65
chroma (A*,, B*,)

BE371-6A 1
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¥w=0,3127y,=0,3290

A5 = (a5 —a5.) Vg (VY1913
Bs = (05— bs,p) Y15 (Y/Y19)™

a5 = a0 [(x-0,17/y]
bs=ba [(Mp1x+bp1)/y]
ay =1, byp=-0,4
Mp=-0,974b,=0,658

n = D65 -40

Os olours (0) Yy\=88,6
m " Ehéfnatic value, D65
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